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sin A 9] Zrat 72 A-2?

@ cosA @ tan A

@ sinC @ cosC
® tanC
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5. & a"83 Zo] /B = 60°, «C = 45° ¢l AABC ©|4] AHLBC °]Z,
AB =8cm ¢ w, AC ¢] Zo]&?

@ 4cm @ 4+3cm ® 4+6cm
@ 8Scm ® 8+6cm



6. TR OOl 3x—2y+12 =029 I
oF x %9 Fo] ko] o]F =74 A7 Ea
2} 512, o] o}, 2tana 9] S Fatoiet.
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7. o= AW %S O A w2

@ sin25° @ cos0° @ cos10°

@ tandb° ® tan60°
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o, =°] BC & 5tH? (H, sin3d4® =
0.5592, cos34° = 0.8290 )
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@ 22.368 cm @ 23.694 cim
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@ 21sinl5°m ® coslh°m
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,BC =12 0]a1, yo]7} 54 & of], /C <]
27127 (& 90° < 2C < 180° )

O 95° @ 100° @ 120°

@ 135° ® 150°
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20. o2 283} Zo] /A = 90° 9 FZhztd o] A A oA bl Y
Aol ¥ H 2 s, AB = 2v3em , AC = Vbem , /BAH =
x, /CAH =y & ], sin? x — 2sin’y o] 722
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22.

ohe 183} 2ol A2 Lot em
L

¢l ol WHst= A2 ABC oA
cosA x tan A 9] Zto| % olty, a+b
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23. o= 2™ cosb5° oF E2 ghe A A2?

rlo

y
1
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35° ri ‘
0 082 1 =z
@ sin55° @ tanb5° ® sin35°

@ cos35° ® tan35°



24. tan(x+15°) =1 ¥ M, sinx + cosx & 27 (HF, 0° < x < 90°)

1+ V3
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25. AZH|e] 8 B thgg WEoh=s xxy+2-5 o 427

Zte sin cos tan
10° 0.1736 0,9848 0.1763
20° 0.3420 0,9397 0,3640
35° 0,5736 0,8192 0,7002
45° 0.7071 0.7071 1,0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0,9998 0.0175 57,2900

sinx = 0.5736

cosy = 0.9397

tanz = 2.7475

@1 @ 2 ® 3 @ 5 ® 6
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D2v3 @ V21 ©® 63
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sin 45°
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@ hcos30°

@ htan30°
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solE?
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B \*“‘-200m—-"’C
@ 300 V3 cm? ® 150 V2 cm?
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